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al =0.85+(1 - 3.000V + 100) =1.16

@2 =1.00+-(1 - 2000V + 100) =1.22

al, a2 DERKELZEE LAHRE LET, &= 1,92

m=qa X SL= 29.3

PAEX Y, BEABREE (m) = 29. 3(N/mf) & LEd, m = 29.3(N/mi)
Kt A b H(W/C)

29.3 = -15.1 + 26.1 X C/WkY W/C = 58, 783 (%) W/C= 58.5(%)
BT K8 (W) WAEENHARE L D W= 153(kg/nt)
Bt 2 2 FE(C)

C=W -+ W/C X 100 = 153 + 58.5 X 100 = 262 (kg/ni) C=262(kg/nf)

Ve=C ~pc= 262 =+ 3.04= 86(Q/nf) Ve=  86(Q/nf)
FHE DS A5 (L /of) WA HEE L D V= 665(Q/nf)
LA A (6)

Vg = V X FEFEFE - 100 = 665 X 60.5 + 100 = 402(Q /nf) Vg=  402(2 /nt)

Vgl = Vg X( 40 =( 40 + 35+ 25))= 161(Q/nf) Vgl=  161(0/nf)

Ve2 = Vg X( 35 +=( 40 + 35+ 256))= 141(Q/nf) Vg2=  141(0 /nf)

Vg3 = Vg - Vgl — Vg2 = 100(Q/nf) Vg3=  100(Q /nf)

Gl = Vgl X pgl = 161 X 2.62 = 422(kg/nt) Gl= 422 (kg/nf')

G2 = Vg2 X pg2 = 141 X 2.62 = 369 (kg/nt') G2= 369 (kg/nf)

G3 = Vg3 X pgd = 100 X 2.62 = 262(kg/nt) G3= 262 (kg/nf)
HALHIE $4 & (S)

Vs =2/~ EfE-( W + Ve + Vg +Vair)
1000 -( 153 + 86 + 402 + 45 )= 314(Q/nf) Vs=  314(Q /nf)

S=Vs Xps= 314 X 2.58 = 810(kg/nf) S = 810(kg/nt)

BT (s/a)

s/a= Vs=+ (Vs+Vg) X100 = 314 +( 314 + 402) X100 = 43.9(%) s/a= 43.9(%)
BT TR FnAl & (Ad)

Adl = C X ¥R+ 100 = 262 X1,100-100= 2.88(kg/nt) Adl=  2.88(kg/nt)

fdadk (kg nf)
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e 1.5 % | AT T 7o —ORKE <
ZENRE(V) W FEAE P BRI L V= 9.00%
|Bc& 58 B (m)

al =0.8-+(1- 3.000V + 100) =1.16

a2 =1.00-( 1 - 2.000V = 100) =1.22

al., o 20FKELZEELAEE LET, o = 1.22

m=a X SL= 29.3

PLEXY, BEATRE m = 29.3(N/mf) & LET, m = 29.3(N/mf)
Kt A REE(W/C)

29.3 = -15.1 + 26.1 X C/WLY W/C = 58. 783 (%) W/C= 58.5(%)
BN &2 (W) WAL NIREEE L D W= 156(kg/nf)
HALE A FE(C)

C=W = W/C X 100 = 156 = 58.5 X 100 = 267 (kg/nt) C=267(kg/nt)

Ve =C +—pc= 267 + 3.04 = 88(Q/nf) Ve=  88(Q/nf)
B S ATE (L /nf) WP EREE & D V= 665(2/nf)
BB & (G)

Vg = V XEFEER- 100 = 665 X 60.5 +~ 100 = 402(Q /nf) Vg=  402(0 /nf)

Vgl = Vg X ( 40 =( 40 + 35+ 25))= 161(Q/nf) Vgl=  161(0 /)

Vg2 = Vg X( 35 +( 40 + 35+ 25))= 141(Q/nf) Vg2=  141(0 /nf)

Vg3 = Vg — Vgl - Vg2 = 100(Q /nf") Vg3=  100(Q /nf)

Gl = Vgl X pgl = 161 X 2.62 = 422(kg/nt') Gl= 422 (kg/nf)

G2 = Vg2 X pg2 = 141 X 2.62 = 369 (kg/nt') G2= 369 (kg/nt)

G3 = Vg3 X pgd= 100 X 2.62 = 262(kg/nt) G3= 262 (kg/nt)
BT HE 54 & (S)

Vs =a//)- sfE-( W + Ve + Vg +Vair)

= 1000 -( 156 + 88 + 402 + 45 )= 309(Q/nfi) Vs=  309(Q /nf)

S=Vs Xps= 309 X 2.58 = 797 (kg/nt) S= 797(kg/nt)

B2 (s/a)

s/a= Vs= (Vs+Vg) X100 = 309 = ( 309 + 402) X100 = 43.5(%) s/a= 43.5(%)
AT TR AN £ (Ad)

Adl = C X W=+ 100 = 267 X1.100-+-100= 2. 94 (kg/nf') Adl= 2. 94 (kg/nt)

fid a3 (kg nf')
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5 [(FHOMWER {3 AR EHIIC Bl TR IRe R D 5 ik BB
RO TIROGIEC X B Koy | B A EHmC s TRy ) )t O WL B kg/m?
B 7 Y — FORERE w222 TORE L 2
ziéé KOS RantecER: Wik R PO kg/n:
15 _ [T R OB R O E & B F R OB A TN | Bty R [ Bl FIR —
Hithaae 0.30 kg/nt LT | 3013 H EEEO LR
(FEOTRIE % [F3ET 5 F 28 A REEEDA T 7 L1t
EER 4.5 G| 25T 7 a—ORkE cm
EENRER (V) WAL HAEE L D V= 9.0%
Bt & 58 (m)

al =0,8-+(1- 3000V + 100) =1.16

@2 =1.00+(1 - 2.000V + 100) =1.22
Cal, a2 DBREAEEELIAEE LET, @ = 1.22

m=a X SL = 20.3

PLEX Y. FEATRE () = 29.3(N/mi) & LET, m= 29 3(N/mf)
K A B EW/C)

29.3 = -15.1 + 26.1 X C/WkY W/C = 58.783 (%) W/C= 58.5(%)
BT K & (W) e ) W= 150 (kg/nt)
B A R E(C)

C=W = W(C X 100 = 150 =+ 58.5 X 100 = 256 (kg/nt) C=256(kg/nt)

Ve =C - pc= 256 +~ 3.04 = 84(Q/nf) Ve=  84(0/nt)
B SFFE(Q/nf) R anabsy k) V= 665(0/nf)
AL A & (6)

Vg = V X EFEE+ 100 = 665 X 60.5 + 100 = 402(L2 /nf) Vg=  402(Q /nf)

Vel = Vg X ( 40 +( 40+ 35+ 25))= 161(2/nf) Vgl= 161(0 /nf)

Vg2 = Vg X ( 35 +( 40+ 35+ 25))= 141(Q/nf) Vg2=  141(0 /nf)

Vg3 = Vg - Vgl - Vg2 = 100(Q/nf) Vg3= 100(0 /nf)

Gl = Vel Xpgl = 161 X 2.62 = 422(kg/nf) Gl= 422 (kg/nf)

G2 =Ve2 X pg2 = 141 X 2.62 = 369(kg/nf) G2= 369 (kg/nt)

G3 = Vg3 X pg3 = 100 X 2.62 = 262 (kg/nt) G3= 262 (kg/nt)
HALHIE & (S)

Vs =) - 5fE-( W + Ve + Vg +Vair)

= 1000 -( 150 + 84 + 402 + 45 )= 319(L/nf) Vs=  319(LQ /nf)

S=Vs Xps= 319 X 2.58 = 823 (kg/nf) S = 823 (kg/nt)
HE R (s/a)

s/a= Vs= (Vs+Vg) X100 = 319 = ( 319 + 402) X100 = 44.2(%) s/a= 44.2(%)
BT R FNA & (Ad)

Adl = € X IN=E= 100 = 256 X1.100+100= 2.82(kg/m’) Adl= 2.82(kg/ni)

ieeE (kg nf)

vt [RRMOIEIHO®] Kk [MEHO[MEHO [MEHO | HEHO [ HEHE | HEHO | EAO | BIAG| RS
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